ACCT 202  Pre-Quiz #4 (Ch. 17 and 18) 

Professor Farina

Student: ___________________________________________________________________________

Chapter 17:

1. The amount of the vested benefit obligation is lower than the projected benefit obligation and greater than the accumulated benefit obligation. 
True    False

 2. An upward revision of inflation and compensation trends would likely cause a gain in the pension benefit obligation. 
True    False

 
3. The difference between pension plan assets and the PBO is equal to the funded status of the plan. 
True    False

 
4. A net gain or net loss affects pension expense only if it exceeds ten percent of the pension benefit obligation or ten percent of plan assets, whichever is lower. 
True    False

 
5. There almost always is a postretirement liability for postretirement benefit plans since very few are funded. 
True    False

 
6. Which of the following is not usually part of the pension formula under a defined benefit plan? 
A. Age at retirement.
B. Number of years of service.
C. Seniority at time of retirement.
D. Compensation level.

 
7. Which of the following describes defined benefit pension plans? 
A. The investment risk is borne by the employee.
B. The plans are simple and easy to construct.
C. The investment risk is borne by the employer.
D. Retirement benefits depend on the individual's account balance.

 
8. The accounting for defined contribution pension plans is easy because each year: 
A. The employer records pension expense equal to the amount paid out to retirees.
B. The employer records pension expense based on an amount provided by the actuary.
C. The employer records pension expense equal to the annual contribution.
D. The employer records pension expense based on the earnings of the plan assets.

 
9. Which of the following is not an uncertainty that complicates determining how much to set aside each year to ensure that sufficient funds are available to provide the benefits promised under a defined benefit plan? 
A. Employee turnover.
B. Number of employees who retired last year.
C. Future inflation rates.
D. Future compensation levels.

 

10. The employer has an obligation to provide future benefits for: 
A. Defined benefit pension plans.
B. Defined contribution pension plans.
C. Defined benefit and defined contribution plans.
D. None of these.

11. The portion of the obligation that plan participants are entitled to receive regardless of their continued employment is called the: 
A. Vested benefit obligation.
B. Retiree benefit obligation.
C. Actual benefit obligation.
D. True benefit obligation.

 
12. Compared to the ABO, the PBO usually is: 
A. Larger.
B. More reliable.
C. Less relevant.
D. More material.

 
13. Consider the following: 
I. present value of vested benefits at present pay levels
II. present value of non-vested benefits at present pay levels
III. present value of additional benefits related to projected pay increases

Which of the above constitutes the accumulated benefit obligation? 
A. I & II.
B. I, II, III.
C. II & III.
D. II only.

 
14. Payment of retirement benefits: 
A. Increases the PBO.
B. Increases the ABO.
C. Reduces the GBO.
D. Reduces the PBO.
 

For #15 – 18:  The following information pertains to Havana Corporation's defined benefit pension plan:
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At the end of 2009, Havana contributed $696 thousand to the pension fund and benefit payments of $624 thousand were made to retirees. The expected rate of return on plan assets was 10%, and the actuary's discount rate is 8%. There were no changes in actuarial estimates and assumptions regarding the PBO.

 

15. What is the 2009 service cost for Havana's plan? 
A. $276 thousand
B. $528 thousand
C. $648 thousand
D. Cannot be determined from the given information

16. What is Havana's 2009 actual return on plan assets? 
A. $504 thousand
B. $618 thousand
C. $1,128 thousand
D. None of these is correct

 
17. What is Havana's 2009 gain or loss on plan assets? 
A. $115.2 thousand
B. $160.8 thousand
C. $276 thousand
D. None of these is correct

 
18. What is the 2009 pension expense for Havana's plan? 
A. $594 thousand
B. $606 thousand
C. $678 thousand
D. None of these is correct
 

19. Louie Company has a defined benefit pension plan. On December 31 (the end of the fiscal year), the company received the PBO report from the actuary. The following information was included in the report: ending PBO, $110,000; benefits paid to retirees, $10,000; interest cost, $8,000. The discount rate applied by the actuary was 8%. What was the service cost for the year? 
A. $ 2,000.
B. $12,000.
C. $18,000.
D. $92,000.

 20. An underfunded pension plan means that the: 
A. PBO is less than plan assets.
B. PBO exceeds plan assets.
C. ABO is less than plan assets.
D. ABO exceeds plan assets.

 
21. Which of the following is not a potential component of pension expense? 
A. Return on plan assets.
B. Prior service cost.
C. Retiree benefits paid.
D. Gains and losses.

 
22. The amortization of a net gain has what effect on pension expense? 
A. Decreases it.
B. Has no effect on it.
C. Increases it (but only by the amount over 10% of the PBO).
D. Increases it (regardless of the amount).

 
23. Amortizing prior service cost for pensions and other postretirement benefit plans will: 
A. Decrease retained earnings.
B. Increase assets.
C. Decrease assets.
D. Decrease shareholders' equity.

Chapter 18: 

 
24. Mandatorily redeemable preferred stock is reported as a liability. 
True    False

 
25. Noncash assets received as consideration for the issue of stock are always valued based on the fair value of the stock. 
True    False

 
26. Treasury stock transactions never increase retained earnings or net income. 
True    False

 
27. Investors should be wary of buybacks during down times because the resulting decrease in shares and increase in earnings per share can be used to mask a slowdown in earnings growth. 
True    False

 

28. Cash dividends become a binding liability as of the record date. 
True    False

 29. Under GAAP, the declaration of a property dividend may require the recognition of a gain or loss if the fair value of the property is different from its carrying value on the declaration date. 
True    False

 
30. Stock dividends cause a reduction in retained earnings, but they never reduce total shareholders' equity. 
True    False

 
31. Issued stock refers to the number of shares: 
A. Outstanding plus treasury shares.
B. Shares issued for cash.
C. In the hand of shareholders.
D. That may be issued under state law.

 
32. Roberto Corporation was organized on January 1, 2009. The firm was authorized to issue 100,000 shares of $5 par common stock. During 2009, Roberto had the following transactions relating to shareholders' equity: 

Issued 10,000 shares of common stock at $7 per share.
Issued 20,000 shares of common stock at $8 per share.
Reported a net income of $100,000.
Paid dividends of $50,000.
Purchased 3,000 shares of treasury stock at $10 (part of the 20,000 shares issued at $8).

What is total shareholders' equity at the end of 2009? 
A. $270,000.
B. $300,000.
C. $250,000.
D. $200,000.

 
33. The changes in account balances for Allen Inc. for 2009 are as follows: 
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Assuming the only changes in retained earnings in 2009 were for net income and a $25,000 dividend, what was net income for 2009? 
A. $30,000
B. $20,000
C. $15,000
D. $ 5,000

 

34. A statement of comprehensive income does not include: 
A. Net income.
B. Losses resulting from the return on assets exceeding expectations.
C. Losses from changes in estimates regarding the PBO.
D. Prior service cost.

 35. When stock traded on an active exchange is issued for a machine: 
A. No entry is recorded until restrictions are lifted.
B. An asset is recorded for the fair value of the stock.
C. An asset is recorded for the appraised value of the machine.
D. Paid-in capital is increased by the appraised value of the machine.

 
36. Rick Co. had 30 million shares of $1 par common stock outstanding at January 1, 2009. In October, 2009, Rick Co.'s Board of Directors declared and distributed a 1% common stock dividend when the market value of its common stock was $60 per share. In recording this transaction, Rick would: 
A. Debit retained earnings for $18 million
B. Credit paid-in capital – excess of par for $18 million
C. Credit common stock for $18 million
D. None of these is correct.

 
37. Montgomery & Co., a well established law firm, provided 500 hours of its time to Fink Corporation in exchange for 1,000 shares of Fink's $5 par common stock. Mitchell's usual billing rate is $700 per hour, and Fink's stock has a book value of $250 per share. By what amount will Fink's Paid-in capital – excess of par increase for this transaction? 
A. $345,000.
B. $295,000.
C. $350,000.
D. $300,000.

 
38. Coy, Inc. initially issued 200,000 shares of $1 par value stock for $1,000,000 in 2007. In 2008, the company repurchased 20,000 shares for $200,000. In 2009, 10,000 of the repurchased shares were resold for $160,000. In its balance sheet dated December 31, 2009, Coy, Inc.'s treasury stock account shows a balance of: 
A. $ 0.
B. $ 40,000.
C. $100,000.
D. $200,000.

 
39. On October 1, 2009, Chief Corporation declared and issued a 10% stock dividend. Prior to this date, Chief had 80,000 shares of $5 par common stock outstanding. The market value of Chief Corporation on the date of declaration was $10 per share. As a result of this dividend, Chief's retained earnings will: 
A. Decrease by $80,000.
B. Not change.
C. Decrease by $40,000.
D. Increase by $80,000.

 

40. Beagle Corporation has 20,000 shares of $10 par common stock outstanding and 10,000 shares of $100 par, 6% cumulative, nonparticipating preferred stock outstanding. Dividends have not been paid for the past two years. This year, a $300,000 dividend will be paid. What are the dividends per share payable to preferred and common, respectively? 
A. $6; $12.
B. $18; $6.
C. $6; $6.
D. None of these is correct.

Problem #1: Chapter 17

American Metals, Inc. has a defined benefit pension plan. Characteristics of the plan during 2018 follow (in $-millions):
	PBO balance, January 1


	480

	Plan assets balance, January 1


	300

	Service cost


	75

	Interest cost


	45

	Gain from change in actuarial assumption


	22

	Benefits paid


	(36)

	Actual return on plan assets


	20

	2018 contributions


	60


The expected long-term rate of return on plan assets was 8%. There were no AOCI balances related to pensions on January 1, 2018, but at the end of 2018 the company amended the pension formula, creating a prior service cost of $12 million. 

Required:

1. Calculate pension expense for 2018.

2. Prepare the journal entries to record pension expense, gains or losses, prior service cost, funding, and payment of benefits for 2018.

3. What amount will American Metals, Inc. report in its 2018 balance sheet as a net pension asset or liability?

Problem #2: Chapter 18
	Listed below are the transactions that affected the shareholders' equity of Branch-Rickie Corporation during the period 2009-2011. At December 31, 2008, the corporation's accounts included: 


	  
	($ in 000s) 

	Common stock, 254 million shares at $1 par 
	$ 254,000 

	Paid-in capital - excess of par 
	642,000 

	Retained earnings 
	980,000 


	a. November 1, 2009, the board of directors declared a cash dividend of $0.80 per share on its common shares, payable to shareholders of record November 15, to be paid December 1. 

b. On March 1, 2010, the board of directors declared a property dividend consisting of corporate bonds of Warner Corporation that Branch-Rickie was holding as an investment. The bonds had a fair value of $1.3 million, but were purchased two years previously for $1.1 million. Because they were intended to be held to maturity, the bonds had not been previously written up. The property dividend was payable to shareholders of record March 13, to be distributed April 5. 

c. On July 12, 2010, the corporation declared and distributed a 5% common stock dividend (when the market value of the common stock was $21 per share). Cash was paid for fractional share rights representing 250,000 equivalent whole shares. 

d. On November 1, 2010, the board of directors declared a cash dividend of $0.80 per share on its common shares, payable to shareholders of record November 15, to be paid December 1. 

e. On January 15, 2011, the board of directors declared and distributed a 3-for-2 stock split effected in the form of a 50% stock dividend when the market value of the common stock was $22 per share. 

f. On November 1, 2011, the board of directors declared a cash dividend of $0.65 per share on its common shares, payable to shareholders of record November 15, to be paid December 1. 


	Required: 

	1. Prepare the journal entries that Branch-Rickie recorded during the three-year period for these transactions. If no entry is required, write “No entry” in your journal. 
Problem #3: Chapter 18

A new CEO was hired to revive the floundering Champion Chemical Corporation. The company had endured operating losses for several years, but confidence was emerging that better times were ahead. The board of directors and shareholders approved a quasi-reorganization for the corporation, effective January 1, 2018. The reorganization included devaluing inventory for obsolescence by $105 million and increasing land by $5 million. Immediately prior to the restatement, at December 31, 2017, Champion Chemical Corporation’s balance sheet appeared as follows (in condensed form): 

CHAMPION CHEMICAL CORPORATION
Balance Sheet
At December 31, 2017
($ in millions) 

Cash 

$ 20 

Receivables 

40 

Inventory 

230 

Land 

40 

Buildings and equipment (net) 

90 

  



  

$420 

  



Liabilities 

$240 

Common stock (320 million shares at $1 par) 

320 

Additional paid-in capital 

60 

Retained earnings (deficit) 

(200) 

  



  

$420 

  





Required: 

1. Prepare the journal entries appropriate to record the quasi reorganization on January 1, 2018. 

2. Prepare a balance sheet as it would appear immediately after the restatement. 
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